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Find the volume of cylinders I
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Find the volume of cones | I
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| Find the surface area of cones I
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Find the probability of a simple event and its complement | |
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| Find and compare experimental and thecretical probabilities [ |
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Use multiplication to count the number of outcomes and find probabilities
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| Find the number of permutations of a set of objects and find probabilities I I
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| .Identify misleading graphs and I
i Jb .guslle g sl jlaz) Cilas] 33 adl calS ghiss gl of ) oledl Jtazl) put o1
.C)_.'"..-l Qa._.:..a EL‘..‘..'._..u}”
Jomied! alo ) (oo nar )
GL"' %
1, I
Ao
IR %
- By ,i
L s
it S
R
o>
st T
0 350 400 450 500 550
s04)) &l e
8
bl gesd] asasal g}L!n:._.u! mlo J led) e ssmadd] plad) Jiad) iy .2
; .

Dllae il Jetetl) 58 o Lo dlal) o) alasl) aa )

d¥ Glad) Eg

S LY o)) b dias,¥) LS el gl daes S Jsasd) 5 W3

o DS ol L _ g Gl il s S gl s

_ alu¥)
@88 gyl el 3 | 13,300 st
@833l pyane () Gm 8,959
oS3 ol ] d.au_ 8,941
gdlan | 6,072
sodalsl | 5920




el (53 Bgdinall ol Anazall blaiL Gl ot plisials Sl (e (e g (o djlRall | (1-3) | 854

| Compare two data sets using line plots or box plots
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| Find the volume of spheres |
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| sPerform probability simulations to model real-world situations involving uncertainty |
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| Find the surface area of cones I I
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| Solve problems involving similar solids I
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| Find the probability of a simple event and its complement

Bipe B el US CaSI . Gas JS Jlisl aa gl dasly e Geed! el go 2l gl 6

- - (e 0Ly gis by yuS
1. Ply,; 2. Plasly) sual)
EY Pl oot 4. Pliiasl,
 goud ) Zs Mo I
e p3a5me Gasllas 3 dgad] ) Jeas o), @ BX
slagdl o Jseo sl g i J] JUas (J) cdiag dls ) jlas) g3 wl o i)
(33! i g Laacgs 2 Joas of als I ol Jloisl Ls . ilatee S 24
giies ) o 80 JAc g digas duwuly _,...uj 8 jgucs g_"l 3__1|_‘l1-}'|' s__C.j* ¥ aasadl
{CaA) ctls Lo l[;—::J] - P
I 82 )

(MD)




T OVl slawly el e A gaznal Jalall sue Slow)

(1-7) 791

Find the number of permutations of a set of objects and find probabilities
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| Find the number of permutations of a set of objects and find probabilities | |
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| | Find the probability of dependent and independent events |
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| Predict actions of a larger group by using a sample I
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| Determine whether sampling methods are valid |
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| Find the surface area of cylinders I
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| Find probabilities of compound events I
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